Solution (1) Control Agent initial here: GISD BID# 09-10-22 REFRIGERATED & FROZEN FOODS PAGE 1 Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing

Department/School: Student Nutrition Program

Bid Number: 09-10-22

Advertising Date: April 3, 2010

Description: Refrigerated & Frozen Foods

Purchasing Agent:

Box No.:

Opening Date: May 18, 2010

Time: 2:00 pm

Results Sent:

Witness:

			SHAMROCK		ZANIOS		SYSCO		DEE'S	
Item	Description	Qty	Unit Price	Total						
1	BACON PRECOOKED BACON	25	\$27.44	\$686.00	\$27.83	\$695.75	\$32.18	\$804.50	NB	NB
2	BAGEL LENDERS BLUEBERRY	15	\$16.15	\$242.25	\$17.87	\$268.05	\$16.00	\$240.00	\$16.25	\$243.75
3	BAGEL LENDERS CINNAMON	15	\$14.33	\$214.95	\$15.54	\$233.10	\$14.05	\$210.75	\$14.29	\$214.35
4	BAGEL LENDERS PLAIN SLICED	15	\$11.99	\$179.85	\$13.52	\$202.80	\$11.96	\$179.40	\$12.30	\$184.50
4	BEEF DELUXE BEEF PATTY	50	\$39.28	\$1,964.00	\$39.93	\$1,996.50	\$40.33	\$2,016.50	\$31.75	\$1,587.50
(BEEF GROUND BEEF	1000	\$155.20	\$155,200.00	\$128.80	\$128,800.00	\$1.90	\$1,900.00	\$126.40	\$126,400.00
7	BEEF SLICED ROAST BEEF	20	\$103.05	\$2,061.00	\$81.52	\$1,630.40	\$60.38	\$1,207.60	NB	NB
8	BEEF BREADED STIX	1200	\$15.91	\$19,092.00	\$31.02	\$37,224.00	\$15.87	\$19,044.00	\$16.15	\$19,380.00
g	BEEF STEAK PATTY	2000	\$62.09	\$124,180.00	\$60.54	\$121,080.00	\$55.33	\$110,660.00	\$60.55	\$121,100.00
10	BREAKFAST BLUEBERRY	500	\$17.41	\$8,705.00	\$18.27	\$9,135.00	\$17.32	\$8,660.00	\$17.22	\$8,610.00
11	BREAKFAST QUESADILLA	200	\$64.92	\$12,984.00	\$67.37	\$13,474.00	\$61.18	\$12,236.00	\$47.49	\$9,498.00
12	BREAKFAST WRAP	150	\$34.15	\$5,122.50	\$35.68	\$5,352.00	\$34.17	\$5,125.50	\$32.28	\$4,842.00
13	BURRITO BEANS & BEEF COMBO	200	\$60.57	\$12,114.60	\$63.36	\$12,672.00	\$61.25	\$12,250.00	\$59.66	\$11,932.00
14	BURRITO EGG & SAUSAGE & CHEES	100	\$32.51	\$3,251.00	\$29.84	\$2,984.00	\$42.47	\$4,247.00	\$32.41	\$3,241.00
15	BUTTER	200	\$61.20	\$12,240.00	\$58.10	\$11,620.00	\$61.02	\$12,204.00	\$60.12	\$12,024.00
16	BUTTERMILK BISCUIT	750	\$18.83	\$14,122.50	\$22.38	\$16,785.00	\$19.04	\$14,280.00	\$11.78	\$8,835.00
TOTAL PR	CE									
TERMS										
DELIVERY										
FOB										
IN-STATE I	PREFERENCE NUMBER									

GISD BID# 09-10-22 REFRIGERATED & FROZEN FOODS PAGE 1A Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing

Department/School: Student Nutri	tion Program	Box No.:	Phone Number: 505-882-6771			
Bid Number: 09-10-22	Advertising Date: April 3, 2010	Opening Date: May 18, 2010	Time: 2:00 pm			
Description: Refrigerated & Frozer	n Foods		Results Sent:			
Purchasing Agent:		Witness:				

			USFOODS							
Item	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	BACON PRECOOKED BACON	25		\$0.00		0.00		0.00		0.00
2	BAGEL LENDERS BLUEBERRY	15		\$0.00		0.00		0.00		0.00
3	BAGEL LENDERS CINNAMON	15		\$0.00		0.00		0.00		0.00
4	BAGEL LENDERS PLAIN SLICED	15		\$0.00		0.00		0.00		0.00
5	BEEF DELUXE BEEF PATTY	50		\$0.00		0.00		0.00		0.00
6	BEEF GROUND BEEF	1000		\$0.00		0.00		0.00		0.00
7	BEEF SLICED ROAST BEEF	20		\$0.00		0.00		0.00		0.00
8	BEEF BREADED STIX	1200	\$18.39	\$22,068.00		0.00		0.00		0.00
9	BEEF STEAK PATTY	2000	\$92.10	\$184,200.00		0.00		0.00		0.00
10	BREAKFAST BLUEBERRY	500		\$0.00		0.00		0.00		0.00
11	BREAKFAST QUESADILLA	200	\$56.60	\$11,320.00		0.00		0.00		0.00
12	BREAKFAST WRAP	150		\$0.00		0.00		0.00		0.00
13	BURRITO BEANS & BEEF COMBO	200		\$0.00		0.00		0.00		0.00
14	BURRITO EGG & SAUSAGE & CHEES	100		\$0.00		0.00		0.00		0.00
15	BUTTER	200		\$0.00		0.00		0.00		0.00
16	BUTTERMILK BISCUIT	750	\$19.50	\$14,625.00		0.00		0.00		0.00
TOTAL PRICE										
TERMS										
DELIVERY										
FOB										
IN-STATE P	PREFERENCE NUMBER									

GISD BID 09-10-22 REFRIGERATED AND FROZEN FOODS PAGE 2

		SHAM	IROCK	ZANIOS		SYSCO		DE	E'S	
Item	Description	Qty	Unit Price	Total						
1	7 CARROT SLICES FROZEN	250	\$11.43	\$2,856.25	\$14.39	\$3,597.50	\$10.90	\$2,725.00	\$12.01	\$3,002.50
1	8 CHICKEN & BISCUIT SANDWICH	500	\$52.63	\$26,315.00	\$56.43	\$28,215.00	\$52.74	\$26,370.00	\$52.18	\$26,090.00
1	9 CHICKEN BREAST NUGGETS	1500	\$12.19	\$18,285.00	\$14.50	\$21,750.00	\$13.89	\$20,835.00	\$13.15	\$19,725.00
2	0 CHICKEN BREAST PATTIE	500	\$18.36	\$9,178.00	\$13.70	\$6,850.00	\$12.43	\$6,215.00	\$12.44	\$6,220.00
2	1 CHICKEN DRUMMETTE	300	\$76.88	\$23,064.00	NB	NB	\$75.39	\$22,617.00	\$72.96	\$21,888.00
2	2 CHICKEN POT PIE CRISPITO	1500	\$39.93	\$59,895.00		\$62,100.00	\$44.05	\$66,075.00	\$39.20	\$58,800.00
2	3 CINNAMON GLAZED EGG FRENCH	300	\$33.62	\$10.086.00	\$35.30	\$10,590,00	\$19.78	\$5,934.00	\$32.76	\$9,828.00
2	4 COOKIE DOUGH CHOC. CHIP	600	\$21.48	\$12,888.00	\$21.49	\$12,894.00	\$21.19	\$12,714.00		
2	5 COOKIE DOUGH OATMEAL	500	\$21.48				\$21.19	\$10,595.00	\$21.40	
	6 CORN WHOLE	200	\$13.29	\$2,658.60		, ,,,,,,,,	\$15.33	\$3,066.00	\$12.60	, .,
-	7 CORN BEEF SLICE	10	\$45.29	\$452.90		\$441.70	\$47.80	\$478.00		NB
-	8 CORN ON THE COB	500	\$15.97	\$7,985.00			\$18.64	\$9,320.00		
	9 CREAM CHEESE	10	\$18.30		\$16.18	· ·	\$15.28	\$152.80		NB
-	0 CREAM CHEESE STRAWBERRY	10	\$17.35	\$173.50		\$144.50	\$15.59	\$155.90		NB
-	1 CROISSANTS	250	\$27.48	\$6,870.00			\$20.19	\$5,047.50		\$4,972.50
	2 EGG AND CHEESE BISCUIT	500	\$40.34	\$20,170.00		NB	\$40.31	\$20,155.00		\$19,710.00
	3 EGG PATTY SQUARE FOLDED	200	\$29.29	,			\$46.80	\$9,360.00		
3	4 EGG BAG FROZEN SCRAMBLED	50	\$40.12	\$2,006.00			\$36.86	\$1,843.00	\$32.89	\$1,644.50
3	5 EGG COLBY CHEESE OMELET	50	\$53.33	\$2,666.50	\$55.95		\$37.61	\$1,880.50		\$1,829.00
3	6 EGG HARD BOILED EGG	10	\$26.77	\$267.70	\$29.09		\$32.98	\$329.80		NB
3	7 FROZEN PEAS AND CARROTS	500	\$12.96	\$6,480.00	\$15.12	\$7,560.00	\$15.22	\$7,610.00		\$6,345.00
3	8 GREEN BEANS FROZEN	500	\$18.96	\$9,479.00	\$17.11	\$8,555.00	\$15.01	\$7,505.00	\$14.01	\$7,005.00
3	9 HAM SLICED	500	\$37.05	\$18,525.00	\$42.22	\$21,110.00	\$28.32	\$14,160.00	\$32.09	\$16,045.00
4	0 HOME MADE PITA	100	\$15.34	\$1,534.00	\$23.42	\$2,342.00	\$14.39	\$1,439.00	NB	NB
4	1 ITALIAN VEGETABLE MIXTURE	750	\$16.64	\$12,480.00	\$20.80	\$15,600.00	\$19.24	\$14,430.00	\$16.65	\$12,487.50
4	2 JUICE FRUIT GRAPE	4000	\$14.08	\$56,320.00	\$16.18	\$64,720.00	\$13.07	\$52,280.00	\$12.43	\$49,720.00
4	3 JUICE FRUIT ORANGE PINEAPPLE	4000	\$13.69	\$54,760.00	NB	NB	\$12.34	\$49,360.00	\$12.73	\$50,920.00
4	4 JUICE FRUIT ORANGE	4000	\$12.98	\$51,920.00	\$13.58	\$54,320.00	\$11.15	\$44,600.00	\$12.08	\$48,320.00
4	5 MIX. VEG. FROZEN	750	\$9.55	\$7,162.50	\$14.00	\$10,500.00	\$15.78	\$11,835.00	\$14.45	\$10,837.50
4	6 MUFFIN ENGLISH	400	\$14.89	\$5,956.00	\$16.32	\$6,528.00	\$13.90	\$5,560.00		\$7,128.00
	7 PANCAKES WHOLE GRAIN	300	\$14.05	\$4,215.00		\$5,364.00	\$14.62	\$4,386.00		
4	8 PASTRAMI SLICES	10	\$45.20	\$452.00	\$35.40	\$354.00	\$48.74	\$487.40	NB	NB

GISD BID 09-10-22 REFRIGERATED AND FROZEN FOODS PAGE 2A

			US F	US FOODS						
Item	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
	17 CARROT SLICES FROZEN	250		\$0.00		0.00		0.00		0.00
	18 CHICKEN & BISCUIT SANDWICH	500		\$0.00		0.00		0.00		0.00
	19 CHICKEN BREAST NUGGETS	1500	\$34.65	\$51,975.00		0.00		0.00		0.00
	20 CHICKEN BREAST PATTIE	500		\$0.00		0.00		0.00		0.00
	21 CHICKEN DRUMMETTE	300	\$76.59	\$22,977.00		0.00		0.00		0.00
	22 CHICKEN POT PIE CRISPITO	1500		\$0.00		0.00		0.00		0.00
	23 CINNAMON GLAZED EGG FRENCH	300	\$34.18	\$10,254.00		0.00		0.00		0.00
	24 COOKIE DOUGH CHOC. CHIP	600	40	\$0.00		0.00		0.00		0.00
	25 COOKIE DOUGH OATMEAL	500		\$0.00		0.00		0.00		0.00
	26 CORN WHOLE	200		\$0.00		0.00		0.00		0.00
	27 CORN BEEF SLICE	10		\$0.00		0.00		0.00		0.00
	28 CORN ON THE COB	500		\$0.00		0.00		0.00		0.00
	29 CREAM CHEESE	10		\$0.00		0.00		0.00		0.00
	30 CREAM CHEESE STRAWBERRY	10		\$0.00		0.00		0.00		0.00
	31 CROISSANTS	250	\$21.60	*		0.00		0.00		0.00
	32 EGG AND CHEESE BISCUIT	500	\$3.65	. ,		0.00		0.00		0.00
	33 EGG PATTY SQUARE FOLDED	200	\$25.06			0.00		0.00		0.00
	34 EGG BAG FROZEN SCRAMBLED	50	\$31.83	4 - 3		0.00		0.00		0.00
	35 EGG COLBY CHEESE OMELET	50	\$43.24			0.00		0.00		0.00
	36 EGG HARD BOILED EGG	10	\$23.64	\$236.40		0.00		0.00		0.00
	37 FROZEN PEAS AND CARROTS	500		\$0.00		0.00		0.00		0.00
	38 GREEN BEANS FROZEN	500		\$0.00		0.00		0.00		0.00
	39 HAM SLICED	500		\$0.00		0.00		0.00		0.00
	40 HOME MADE PITA	100	\$27.84	\$2,784.00		0.00		0.00		0.00
	41 ITALIAN VEGETABLE MIXTURE	750		\$0.00		0.00		0.00		0.00
	42 JUICE FRUIT GRAPE	4000		\$0.00		0.00		0.00		0.00
	43 JUICE FRUIT ORANGE PINEAPPLE	4000		\$0.00		0.00		0.00		0.00
	44 JUICE FRUIT ORANGE	4000		\$0.00		0.00		0.00		0.00
	45 MIX. VEG. FROZEN	750		\$0.00		0.00		0.00		0.00
	46 MUFFIN ENGLISH	400	\$19.48	\$7,792.00		0.00		0.00		0.00
	47 PANCAKES WHOLE GRAIN	300		\$0.00		0.00		0.00		0.00
	48 PASTRAMI SLICES	10		\$0.00		0.00		0.00		0.00

GISD BID 09-10-22 REFRIGERATED & FROZEN FOODS PAGE 3

			SHAN	IROCK	ZAN	NIOS	SYS	sco	DE	E'S
Item	Description	Qty	Unit Price	Total						
4	PEAS	400	14.14	\$5,656.00	\$15.88	\$6,352.00	\$17.12	\$6,848.00	\$13.75	\$5,500.00
	50 PIZZA BREAKFAST	200	43.32	\$8,664.00	\$42.05	\$8,410.00	\$43.16	\$8,632.00	NB	NB
	51 PIZZA RIGH ANGLE SAUSAGE WED	600	49.72	\$29,832.00	\$51.41	\$30,846.00	\$44.71	\$26,826.00	NB	NB
	2 PORK RIB PATTY	200	25.39	\$5,078.00	\$32.60	\$6,520.00	\$25.21	\$5,042.00	\$24.72	\$4,944.00
	53 POTATO SKIN ON FRIES	800	15.37	\$12,296.00	\$16.44		\$14.75	\$11,800.00	\$13.39	\$10,712.00
	54 POTATO ROUND	500	15.91	\$7,955.00	\$16.88	\$8,440.00	\$13.12	\$6,560.00	\$14.01	\$7,005.00
	55 SAUSAGE	250	23.32			\$3,462.50	\$17.76			
	66 SLUGGERS JUMBO BBQ	1500	25.99	\$38,985.00	\$24.73	\$37,095.00	\$23.20	\$34,800.00	\$23.30	\$34,950.00
	57 SOUP BOSTON CLAM CHOWDER	5	27.00	\$135.00	\$30.99	\$154.95	\$31.84	\$159.20	NB	NB
	8 SOUP GOLDEN BROCCOLI CHEESE	5	19.06	\$95.29			\$28.34	\$141.70		NB
	59 SOUP ITALIAN STYLE WEDDING	5	21.18			NB	\$30.61	\$153.05		NB
-	50 SOUP CHICKEN W/EGG NOODLES	5	36.35			\$58.60		\$161.55		NB
	51 SOUP MEXICAN STYLE CHICKEN	5	25.34	\$126.72	\$30.42			\$165.75		NB
	52 SOUP MEDITERRANEAN VEG.	5		NB	\$34.73		\$29.49	\$147.45		NB
-	33 STRAWBERRIES	100	44.63		-	\$4,107.00		\$4,018.00		\$3,915.00
	64 TAC GO W/EGG CHEESE & TURKEY	200	38.02					\$7,752.00		
(55 TURKEY SLICED SMOKED	150	41.01	\$6,151.50	\$42.87	\$6,430.50	\$19.92	\$2,988.00		\$2,970.00
(66 UNCRUSTABLE GRILLED REDUCED	400	NB	NB	\$45.57	\$18,228.00	\$43.09	\$17,236.00	NB	NB
	67 UNCRUSTABLE PEANUT BUTTER	100	34.88	\$3,488.00	\$37.98	\$3,798.00	\$34.96	\$3,496.00	\$34.52	\$3,452.00
(58 UNCRUSTABLE PEANUT-HONEY	100	35.97	\$3,597.00	\$39.14	\$3,914.00	\$36.01	\$3,601.00	\$35.53	\$3,553.00
(69 UNCRUSTABLE PEANUT-STRAWBE	100	36.48	\$3,648.00	\$39.63	\$3,963.00	\$36.46	\$3,646.00	\$35.96	\$3,596.00
,	70 WAFFLES	100	9.97	\$997.00	\$13.23	\$1,323.00	\$11.32	\$1,132.00	\$18.46	\$1,846.00
,	71 WHEAT ROLLS	300	19.22	\$5,766.00	\$20.28	\$6,084.00	\$19.11	\$5,733.00	\$19.21	\$5,763.00
,	72 YEAST	50	96.50	\$4,825.00	\$96.00	\$4,800.00	\$86.66	\$4,333.00	\$41.06	\$2,053.00
,	73 YOGURT DANNON OR YOPLAIT	600	10.66	\$6,396.00	\$15.46	\$9,276.00	\$10.61	\$6,366.00	\$11.50	\$6,900.00
,	74 ZUCCHINI SQUASH	450	26.22	\$11,799.00	\$34.65	\$15,592.50	\$35.20	\$15,840.00	\$25.92	\$11,664.00
		+								
		†								

GISD BID 09-10-22 REFRIGERATED & FROZEN FOODS PAGE 3A

			US F	OODS						
Item	Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
4	9 PEAS	400		\$0.00		0.00		0.00		0.00
5	0 PIZZA BREAKFAST	200		\$0.00		0.00		0.00		0.00
5	1 PIZZA RIGH ANGLE SAUSAGE WED	600		\$0.00		0.00		0.00		0.00
5	2 PORK RIB PATTY	200	\$28.90	\$5,780.00		0.00		0.00		0.00
5	3 POTATO SKIN ON FRIES	800		\$0.00		0.00		0.00		0.00
	4 POTATO ROUND	500		\$0.00		0.00		0.00		0.00
	5 SAUSAGE	250	\$24.94	\$6,235.00		0.00		0.00		0.00
5	6 SLUGGERS JUMBO BBQ	1500	* **	\$0.00		0.00		0.00		0.00
	7 SOUP BOSTON CLAM CHOWDER	5		\$0.00		0.00		0.00		0.00
	8 SOUP GOLDEN BROCCOLI CHEESE	5		\$0.00		0.00		0.00		0.00
	9 SOUP ITALIAN STYLE WEDDING	5		\$0.00		0.00		0.00		0.00
	0 SOUP CHICKEN W/EGG NOODLES	5		\$0.00		0.00		0.00		0.00
	1 SOUP MEXICAN STYLE CHICKEN	5		\$0.00		0.00		0.00		0.00
	2 SOUP MEDITERRANEAN VEG.	5		\$0.00		0.00		0.00		0.00
	3 STRAWBERRIES	100		\$0.00		0.00		0.00		0.00
	4 TAC GO W/EGG CHEESE & TURKEY	200		\$0.00		0.00		0.00		0.00
	5 TURKEY SLICED SMOKED	150	\$35.60			0.00		0.00		0.00
	6 UNCRUSTABLE GRILLED REDUCED	400	\$46.94	\$18,776.00		0.00		0.00		0.00
	7 UNCRUSTABLE PEANUT BUTTER	100	,	\$0.00		0.00		0.00		0.00
6	8 UNCRUSTABLE PEANUT-HONEY	100		\$0.00		0.00		0.00		0.00
6	9 UNCRUSTABLE PEANUT-STRAWBE	100		\$0.00		0.00		0.00		0.00
7	0 WAFFLES	100		\$0.00		0.00		0.00		0.00
7	1 WHEAT ROLLS	300		\$0.00		0.00		0.00		0.00
7	2 YEAST	50		\$0.00		0.00		0.00		0.00
7	3 YOGURT DANNON OR YOPLAIT	600	\$13.71	\$8,226.00		0.00		0.00		0.00
7	4 ZUCCHINI SQUASH	450		0.00		0.00		0.00		0.00